TNPSC - GROUP 2A
womnams ~ GENERAL STUDIES - 2017 (ENGLISH)

GEOGRAPHY
Mercury the smallest planet has only 88 earth days to orbit the sun, because
(A) Size of the planet (B) Spinning speed
(C) Distance from the sun (D) It's thin atmosphere

Match the disasters with its type and pick the correct answers code :

(a) Blizzards 1. Hydrological disaster
(b) Tsunamis 2. Health disaster

(¢) Nuclear accidents 3. Atmospheric disaster
(d) Pandemic 4. Anthropogenic disaster
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A) 2 1 4 3

(B) 2 3 4 1

©) 3 1 2 4

) 3 1 4 2

Tidal forests of Ganga-Brahmaputra delta, mainly consists of

(A) Rhododentrons (B) Hardwood palms
(C) Laurels (D) Junipers
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